[image: image1.png]2010 £ 4T &5 =K
B (X

F R E AR
)

EEE:

1. AR RS RSB B A AR AR AT HESH AN EH
KRB PR A FT. AL

2. KRES A 1K GREFR) % A (FERAEE) A, &6 T, AKHS 150
2, KBTI 120 947,

SENRN:

MRS A, BT, A Bk ARRAR
P(A+B)=P(4)+P(B) V = Sh
RS A, BT, A4 Ji S FORH IR, RN
P(A-B)=P(A)-P(B) PCHLS AV
MBI A AR RENBER p o V:%%
S YOS ARG A A SR K i Juth S FORMMERITR, P FRHEHER
P(ky=Cipt-p)™ (k=0,1,2,--n) BAmERAR
SRR X V:%M&+J&&+SQ
S =47k’ IS, S, BERR G KL, TRER, A
BRIGAALA R TR A
v =2

3
Ho R FORERI AL

$FI1E (505
L EE GEAE 10N SAESH, %505, EEMESHAMNERE, 2
B-MEHAEBERR)
vl GousogD ST
A. —11—3i B. —1+3i C. 1“3i D. 1+3i

2. #3ef{a,a®-2a}, WIHaEST

A. 3 B. 1 C. —l D. —1
2
3. B4la,beR, “a>b” i “lga>lgh”
A. RATULTLL B. MRS
C. BELMF D. BEARTEA R ESAT

TR EREE B 1T GE6T0







[image: image7.jpg]


[image: image2.png]q. S {a,

A. 54 B. 45 C. 36 . 27
5. Wd-b=4, adih iR 2,

AT

W3

AT T I O AN R 111

A Emlla, nca, Wmlin

B. fia\f=m, min, Wnla

oo fvmlla, nila, Wmiin

D HEmila, mo . aNf=n, Wmlia

9. (i LU 5 AR, JOT 2 R E S AEANT K A

3 BRI LR A

S ey

I 3 A ER TR L TSR

RSN SRV e R T

10




[image: image3.png]HoF

RUEREGWILT. LR AM

Al H

ARid =13 b=(e2), H gk, e

c REE (KA 7 NG

PR mis s,

PR PyE R

A DA A

AL RIR A f(x) = s’4 I
5 (4

BN

E#E (#

NS

G sIn2010° = A

B o

Wi

AR le)rv‘fﬂfH'T"JSfﬁ)Ui A

= i 2x + (7)’()<¥)«— Y3

i

= Ma > b > 0) KM B sk, M

(80 AL Wila

>0) B ooy

ko Mkik, £ 0. |+ Ik, s

100 53
228 4)

BIEHEIET. &

R 1000 A

L P(4.3) BN 25
Y \

HAT B (2’35 B g E'Wﬂ/\ff'i fali

"

W PR &8 () CRBATD SRR O s
[572 0=x <1,

Wl T G 47

CRYEE 1 vme

A

v

\_

. SRR 5 A L R T e 7 A

FL;H,})U:/\/{) S5

EiERIE eI




[image: image4.png]=, BMEH RAELsE, #7290 BENSHICTHR. EPEESCEETE

18, CA/NRETE S 14 4

ol d{a,} MR 2 A, HW LS ne N

HEAABC T, A B,CBExRMESMAa,
a=1.
CT sRfg B A
CIUS A9b da Fle WG I, oR AABC T
19.

Eagyi{a ), o =1, 5 &
a,, =kS, +1 CkLIED

&1

CLy k=21, Ka,,« K

o

LR

b, c.

.

RN LR

[
bi

o P
Hitisin B+v3cosB =3,

H



[image: image5.png]20, (A/DELE S 14 93)

ink, 4 RIAABC ¥, ZACR=90", ZB=30", D. EnilhAB, CDHLL,
AL MERSRZECB VF . BRACDISCD R, Pil—@mA-CD-B, i AF .
1y KAE: IR AEF LFHECBD

CID) MM A—CD - B NN, R AB L CBD B A LM

N . -
C!{A _Aﬁfi,g_:\g C//' N —— \XB
F (5 20380) F
BRE N WH 47 15 45
, : a ER
LA AL f(x) = 2ax° = 3ax? + 1 0(&):~——4—X+§. {aeR)

CHY T

Fx)y=g(x,) o, R a KA aEE .



[image: image6.png]WA M AT x B TP B C X = 2py(p > O) A3 YR Kk 42

(1) =K p i
(I UL C LA A, B AUHEIE C TR, 1.
Cio il LAETRUM , SRTIER AB (758
Cily BT AB FA M, 0L, LERENN . S, = 287 1, K

[FIAEER.

BN























































































































































第 1 页 共 6 页

